Eksj6 BK
Torsdagsbridge 2021-10-07

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poang % Namn MID Klubb
1 12 179 62.15 Tommy Lundvall - Arne Karlsson 7044 8570  Eksjo BK - Vaxjobridgen
2 7 176 61.11 Johan Hagg - Roland Dischler 28811 1148  Savsjo BK
3 1 175 60.76  Ann-Charlott Kéck Karlsson - Kennet Géransson 88857 9304  Eksjo BK
4 13 160 55.56  Bodil Karlsson - Anita Paulsson 14677 17657 Eksjo BK
5 2 157 54.51 Viola Paulsson - Margareta Bengtsson 61103 25966 Eksjo BK
6 5 148 51.39 Stefan Karlsson - Christer Géransson 17348 17347 Eksjo BK
7 3 144 50.00 Sven Nilsson - Boo Andersson 9312 68614 Eksjo BK
8 9 141 48.96 Rune Elofsson - Anders Palm 37718 44918 Eksj6 BK
9 6 139 48.26  Gunnar Postrup - Alf Fransson 55213 63165 Eksjo BK
10 11 138 47.92  Magnus Larsson - Ingvar Ekeroth 53035 25976 Eksjo BK
11 4 131 45.49  Sten-Ake Eskilsson - Les Halladay 40412 33189 Eksjo BK
12 10 121 42.01  Willmor Johansson - Lars Winborg 59538 59835 Eksjo BK
13 14 119 41.32  Edel Andersson - Birgitta Strid 83547 45851 Eksjo BK
14 8 88 30.56 Marie-Anne Tellt - Ingegérd Bovin 45852 54068 Eksjo BK
1 & KKn7 Basta kontrakt 2 4 E1076 Basta kontrakt 3 # DKn98632 Basta kontrakt
Nord v43 64 N =980 Ost v732 2NT O =-120 Syd v10 44 S =420
Ingen + 87 NS + KKn102 ov 41085
#EDKn843 & ¢ v & NT #Kn2 & ¢ v & NT #Kn3 & ¢ v & NT
43 46 N 105 4 127 4Kn942 4K3 N6 44505 aK 454 N6 7 6 109
vEKDKn85 v 10762 S 105 4 127 vEKn96 v1085 S 64455 vKn73  vEK642 S 6 7 6 109
¢32 +Kn109654 O 3 8 8 0 1 + ED6 498543 06 9878 ¢ EKn32 ¢ D76 076723
#7652 *K9 v3ig8801 *K4 *ED9 V798738 #87542 &K96 V761723
« ED1098542 « D85 4 E107
v9 vKD4 v D985
+ EKD *7 + K94
«10 #1087653 #EDI10
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng
12 7 64 S= vA 980 120 00| 2 5 3NO-2 8 100 120 00| 1 8 44 S= ¢2 420 120 0.0
13 1 44 S+3 vK 510 100 20|13 1 2NV-1 46 50 100 20(10 11 34 S+2 &3 200 100 20
2 5 464 S+2 vA 480 40 80| 9 10 2¢ O+1 45 -110 80 40| 3 6 24N+2 vA 170 70 50
3 11 44 S+2 vA 480 40 80| 3 11 2NV= 46 -120 50 7.0 4 12 24 S+2 vJ 170 70 5.0
4 6 44 S+2 vA 480 40 80|12 7 2NV= 2 -120 50 70|13 2 24S+1 2 140 40 80
8 14 44 S+2 vA 480 40 80| 8 14 1v V+2 &J -140 20 100| 5 7 44 N-1 vA -50 1.0 11.0
9 10 44 S+2 vA 480 40 80| 4 6 2NV+1 ¢J -150 0.0 120| 9 14 44 N-1 vK -50 1.0 11.0
4 473 Bésta kontrakt 5 & Kn10942 Bésta kontrakt 6 41073 Bésta kontrakt
Vast vD9 34 V =-140 Nord vD4 6v O D-3500 Ost v Kn98 3NT S =400
Alla + KD85 NS + EDKn1093 ov + Kn103
#K9832 & ¢ v & NT &- & ¢ v & NT #KKn108 & ¢ v & NT
4 D10985 4 EK2 N6 4835 465 « D873 N 11124 106 4 KDKn95 442 N 108 9 8 9
v Kn4 v76 S 6 4835 v K96 vEKn107532 S 11124 106 v 106 v D752 S 108 9 8 9
41073 ¢+ EKn964 078596 ¢ K54 +6 010921 + KD8 ¢ 9542 O3 4454
«D76 #EKn4 V79596 #109832 #7 V10921 #543 #D96 V34353
& Kné4 4 EK « E86
v EK108532 v8 v EK43
2 ¢ 872 +E76
«105 #EKDKn654 *E72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 8 2vS+1 T 140 120 00|13 3 44 N= vA 620 120 00| 6 8 1aV-2 vl] 200 12.0 0.0
9 14 2v S= T 110 100 20| 6 8 5&4S= v6 600 90 30| 4 7 INN+2 42 150 100 2.0
10 11 INO-1 vA 100 80 40|14 10 5¢ N= vA 600 90 30| 2 9 2NN= 42 120 70 5.0
4 12 3v S-1 48 -100 6.0 60|11 12 5v0-1 oA 50 6.0 60|13 3 2NN= 4 120 70 5.0
3 6 26 0+1 YA -110 40 80| 2 9 5aN-1 vA -100 30 90|14 10 1vS-1 s K -50 40 8.0
5 7 24 0+2 ©vA -170 10 110| 5 1 6#S-1 v6 -100 30 90| 5 1 3NN-2 oK -100 2.0 10.0
13 2 34 V+1 vQ -170 10 110| 4 7 6aN-4 vA -400 0.0 12011 12 4v S-3 oK -150 0.0 12.0
7 » 106 Basta kontrakt 8 4 K102 Basta kontrakt 9 #1065 Basta kontrakt
Syd v 82 34 V =-140 Vast v D10987 34 V =-140 Nord v Kn2 4v O =-620
Alla + DKn972 Ingen + K9 ov + EKn83
#10962 & ¢ v & NT #Kno8 & ¢ v & NT #DKn62 & ¢ v & NT
4 Kn973 48542 N6 8345 4D874 4E9% N7 3544 a K2 « E974 N55 353
vK643  vDKn975 S 68345 vK4 v EKn632 S 73544 vEK7654 vD3 S55 353
.- + EK6 075998 + ED865 ¢ Knl10 06 9898 + D107 4952 O 8 8 108 9
#ED875 #4 V759938 #65 *KD7 V698938 *EK 210974 vV 8 8 108 9
« EKD 4 Kn53 « DKn83
vE10 v5 v 1098
4108543 47432 + K64
#KKn3 #E10432 853
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
5 8 INS+2 &4 150 120 00| 3 10 3NO-3 «2 150 120 00| 4 11 3vyV+1l ¢3 -170 9.0 30
14 11 4v0O-1 4A 100 100 20|13 4 3NO-2 «2 100 100 20| 6 9 1lvyV+3 46 -170 9.0 3.0
3 10 2¢ N= *4 90 70 50| 7 9 2NO-1 %3 50 70 50| 8 10 2v V+2 T -170 9.0 3.0
7 9 INS= *8 90 70 50|12 1 3NO-1 *3 50 70 50|12 14 3vV+1l #Q -170 9.0 3.0
12 1 3¢ N-1 *4 -100 30 90| 5 8 INO= 3 -90 40 80| 7 3 INV+4 &Q -210 40 80
13 4 INS-1 &5 -100 30 90|14 11 INO+1 &4 -120 20 100| 1 2 4v V= vl] -620 2.0 10.0
6 2 3v0O= s A -140 00 120| 6 2 3NO= *A -400 0.0 120|113 5 4vV+1l v2 -650 0.0 12.0
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10 4 ED1053 Basta kontrakt 11 4 K10973 Basta kontrakt 12 ~KD Basta kontrakt
Ost v D97 3v S =140 Syd v KKn98 54 S =450 Vast v 10752 2NTV =-120
Alla + E732 Ingen ¢+ E54 NS +E
*K & ¢ v & NT *6 & ¢ v & NT «D87532 & ¢ v & NT
2 KKn976 484 N59 975 D82 &Kn4 N 8 10111110 4754 » EKn3 N6 7 885
v32 vE108 S$59975 v632 vD54 S 8 10111110 vKn93 vKD6 S67 885
+ K64 + D5 08 3366 ¢ KKn3 ¢ D982 053122 ¢ Kn876 ¢ 542 0654 438
*ED6 21098543 V 8 3 4 6 6 #9874 #KKn105 V53122 K104 #EKn96 V65448
a2 » E65 + 109862
v KKn654 vE107 vE84
+ Kn1098 41076 + KD1093
*Kn72 #ED32 *-
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 3 INO-4 +J 400 120 00| 5 12 4v N+1 ¢2 450 120 00|13 6 34 S= vJ 140 120 0.0
13 5 INO-3 v4 300 100 20| 1 14 44 N= &5 420 50 70| 1 14 24 S= vlJ 110 8.0 4.0
8 10 2v S+3 46 200 80 40| 2 3 44 N= ] 420 50 70| 2 3 24S-= 4 110 8.0 4.0
12 14 3v S+1 &A 170 6.0 60| 7 10 44 N= T 420 50 70| 7 10 2v N= 3 110 8.0 4.0
1 2 3vS= A 140 40 80| 8 4 44 N-= *J 420 50 70| 5 12 24 S-1 *K -100 40 80
6 9 2¢ N+2 vA 130 20 100 9 11 44 N= &5 420 50 70| 9 11 34 S-2 v3 -200 2.0 10.0
4 11 24 0+1 v4 -110 00 120(13 6 44 N= &5 420 50 70| 8 4 2NS-3 v3 -300 0.0 12.0
13  EKn86 Bésta kontrakt 14 4 D105 Bésta kontrakt 15 41093 Bésta kontrakt
Nord v Kn7 4¢ N =130 Ost v 873 2NT S =120 Syd v Kn7653 44 S =620
Alla + EK9654 Ingen ¢ Kn97 NS ¢ E7
*7 & ¢ v & NT #ED42 & ¢ v & NT #1082 & ¢ v & NT
«D2 » K1054 N 4 105 8 8 4 E962 4Kn743 N8 7 8 6 8 «DKn4 4875 N 6 6 10109
vD10832 v95 S 4 106 8 8 vDKn6 vK92 S 8886 8 v 102 v K9 S 6 6 10109
+3 ¢ Kn72 093754 ¢1065 ¢ KD2 056575 ¢8542 ¢ KDKn10 06 7 234
#EDKN96 #K1084 V9375414 K105 4986 V55575 #Kn543 #ED76 V67234
973 K8 « EK62
v EK64 vE1054 vED84
+ D108 + E843 + 963
#532 *Kn73 *K9
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
9 5 140-2 v4 200 11.0 10(14 2 2¢ N+1 47 110 120 00| 7 2 2vS+3 &3 200 120 0.0
13 7 5&V-2 ¢K 200 11.0 10| 3 4 INN= 43 90 100 20| 4 5 2¢vS+2 ¢5 170 100 20
3 4 3¢ N+1 v9 130 70 50|10 12 1v S= & A 80 80 40| 9 12 INS+1 +Q 120 6.0 6.0
6 1 3¢ N+1 #4 130 70 50| 6 1 INN-1 3 -50 50 70|11 1 INS+1 T 120 6.0 6.0
8 11 3¢ N= v5 110 30 90|13 7 INN-1 43 -50 50 70|13 8 INS+1 #3 120 6.0 6.0
14 2 3¢ N= v9 110 30 90| 8 11 2¢vS-2 & A -100 10 11.0|14 3 14 S+1 +2 110 2.0 10.0
10 12 3+ V= v7 -110 00 120 9 5 2vS-2 *T -100 10 11.0|10 6 2#V-2 ¢A 100 0.0 12.0
16 & KKn7653 Basta kontrakt 17 410752 Basta kontrakt 18 & KKn984 Basta kontrakt
Vast v 109 3v V =-140 Nord v 8752 24 O =-90 Ost v K98 6NT S = 1440
oV +D4 Ingen ¢E75 NS + D6
#Kn93 & ¢ v & NT »73 & ¢ v & NT »E82 & ¢ v & NT
« E984 «D10 N76 465 2 K986 4E3 N3 6666 D62 a5 N 109 8 1211
vEKDKn7 v864 S76 465 v K9 v EKn104 S366 76 vD632 vKn754 S 109 8 1212
*7 ¢ EKn963 O6 6 96 8 +843  +962 086767 +383 ¢ K10972 024411
«D108 £654 V66978 #D965 #K842 V86 766 #K1053 #974 V24411
a2 « DKn4 «E1073
v532 v D63 vE10
+ K10852 ¢ KDKn10 ¢ EKn54
#EK72 #EKn10 #DKn6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 12 4v V-1 +Q 100 100 20| 8 3 INS+1 46 120 120 00| 4 14 44 N+2 vJ 680 9.0 3.0
10 6 24 V-1 ¢4 100 100 20| 4 14 INS= 46 90 80 40| 5 6 44S+2 ¢8 680 9.0 3.0
13 8 4v V-1 +Q 100 100 20|11 7 INS= 46 90 80 40(12 2 44S+2 &5 680 9.0 3.0
7 2 24 N-1 v4 -50 6.0 60|13 9 INS= 46 90 80 40|13 9 44S+2 v2 680 9.0 3.0
4 5 3v0= *K -140 30 90| 5 6 24N-1 *4 -50 40 80(10 1 44S+1 ¢8 650 30 9.0
14 3 2vV+1l ¢4 -140 30 90|12 2 2¢vyN-2 s A -100 20 100|111 7 44 S+1 8 650 3.0 9.0
11 1 24 N-4 v6 -200 0.0 120(10 1 INV+2 a2 -150 00 120| 8 3 3NS+1 &3 630 0.0 12.0
19 4 D10872 Bésta kontrakt 20 « ED94 Bésta kontrakt 21 D983 Bésta kontrakt
Syd v 104 5NTV =-660 Vast v 9875 5v V =-650 Nord v EKn10985 3« OD-1100
oV + K93 Alla +92 NS .-
+D109 & ¢ v & NT #Kn75 & ¢ v & NT #Kn73 & ¢ v o NT
& KKn 63 N4 2272 a7 » 102 N1328S3 452 » EKKNn6 N4 7875
v EK6 v Kn985 S42272 vEKD104 vKn62 S13283 vD3 v742 S47 865
+D10872 ¢ EKn54 09 11116 11 ¢+ EK4 ¢ Kn1086 O 1110115 7 410874 ¢ Kn53 085354
*E75 *K82 vV 9 11116 11 #K1064  #E983 V 1110115 7 #D9654 #EK10 V8535414
« E954 # KKn8653 1074
vD732 v3 v K6
+6 + D753 + EKD962
#Kn643 «D2 *82
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
5 14 3NV-1 2 100 120 00| 5 14 4v V-1 v9 100 100 20|12 3 2vN+2 4A 170 120 0.0
12 8 34 N-1 +5 50 100 20| 9 4 4v V-1l A 100 100 20| 1 9 3v N= A 140 8.0 4.0
9 4 3vO+1 +6 -170 80 40|12 8 4v V-1 +9 100 100 20| 7 8 2vN+1 4K 140 8.0 4.0
11 2 2NV +2 &2 -180 60 60| 1 3 INV+2 ¥9 -150 6.0 60|13 11 3v N= A 140 8.0 4.0
13 10 5¢ V= vT -600 40 80(11 2 4v V= a4 -620 40 80| 2 4 2vN= K 110 40 80
1 3 3NV+1l a7 -630 20 10.0|13 10 4v V+1 9 -650 20 100|110 5 3vN-1 s A -100 1.0 11.0
6 7 3NV+3 42 -690 00 120 6 7 4vV+2 ¢9 -680 00 120|114 6 3vN-1 *A -100 1.0 11.0
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BRNNZ

22 410543 Basta kontrakt 23 49 Basta kontrakt 24 4 KD92 Basta kontrakt
Ost vED 2NT O =-120 Syd v EK742 4¢ V =-130 Vast vE2 4¢ N =130
ov + Kn832 Alla ¢ 952 Ingen + ED875
K73 & ¢ v & NT K986 & ¢ v & NT &73 L Y
987 & KD6 N3 4554 4 KD1087 #2 N4 3754 «E76 410843 N 7 106 8
v 764 v KKn2 S33553 v 105 v D83 S43754 vKDKn1084 v63 S 7 106 8
+76 ¢+ EKD104 0987 838 +D1063 ¢ EKKn7 0996 78 ¢ Kn6 443 O6 374
&#EKn864 #D10 V987 88 &E7 &#DKnl1042 V 9 106 7 8 &K10 &DKn652 V6374
& EKn2 & EKn6543 & Kn5
v 109853 v Kn96 v 975
+95 +84 ¢+ K1092
#952 &53 &E984
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 3 2NO-1 vT 100 11.0 10|11 6 3NO-2 vJ 200 11.0 10| 1 4 INS+4 v4 210 12.0
13 11 3NO-1 v3 100 11.0 10|14 7 3NO-2 vJ 200 11.0 10| 3 5 3¢ N+1 v6 130 10.0
1 9 INO= vT -90 80 40| 1 4 2vN-1 *+K -100 80 40| 2 10 3vV-2 ¢A 100 7.0
7 8 2¢ O+1 vT -110 6.0 60| 3 5 3e¢V= vA -110 60 60| 8 9 3vV-2 ¢A 100 7.0
2 4 3NO+1 vT -630 20 100| 8 9 4¢ O= vJ -130 40 80|11 6 INN= v6 90 4.0
10 5 3NO+1 v3 -630 20 100| 2 10 3v N-2 *A -200 20 100(13 12 2v V-1 &7 50 20 1
14 6 3NO+1 s A -630 20 10.0|13 12 3vyDN-2 a2 -500 0.0 120|114 7 2NN-2 &5 -100 00 1
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